No. 21642 Wet/Dry Cutting System

™

ORDER NO. DESCRIPTION ORDER NOD.
21641 Adaptar Kit 21642-38
21642-01 Hex Hd. Screw MEX1E 21642-39
21642-02 Cuter Flange 21642-40
21642-03 Inmar Flarge 21642-41
21642-04 Spindle 21642-42
21642-05 Woodnull Kay M4x4x10 21642-43
21642-06 Ring 21642-44
21642-07 Ball Bearing Cowver 21642-45
21642-08 Ball Bearing 62071 LLB 21642-46
21642-09 Retaining Hing 21642-47
21642-10 Hex Hd. Screw MAx25 (4) 21642-48
21642-11 Spring Washer M4 (4] 21642-49
21642-12 Salety Cover

21642-13 Gear

21642-14 Meedla Bearing HROE10

21642-15 Hd. Screw M5x40

21642-16 Spring Washer M5 (6)

21642-17 Gear Housing

21642-18 Retaining King

21642-19 Gear

21642-20 Ball Bearing 629 LLB

21642-21 Woodnul Key M3x3x10

21642-22 Armature Assembly

21642-23 Ball Bearirig 608.LL

21642-24 Hd. Screw M5xE5 (2)

21642-25 Field Assemibly

21642-26 Wire Connector

21642-27 Motor Howsing

21642-28 Hd Screw M4x20 (4)

21642-29 Carbon Brush Holder {2)

21642-30 Carbon Brush (2)

21642-31 Brush Cap (2)

21642-32 Power Supply Cord

21642-33 Cord Guard

21642-34 Cord Clip

21642-35 Hd. Screw MAx16 (2]

21642-36 Single Cord

21642-37 Switch

DESCRIPTION

switch Guard

Hamdle Cover

Hase

Retaining King

Fin

Thumb Screw MEx10
Virnyl Tube Holder
Thumb Scresw MEx30
Metal Collar

Wranch

Hax Wrench

Shalt Gear

All Prices im 1.5, Dollars

Made in Tanesan 701




ORDER FORM

®

ORDER NO. DESCRIPTION QUANTITY PRICE TOTAL
Subtotal
To Order: Shipping & Handling *7.95

Fax to 561-241-2830

Total Amount

or
Mail to Q.E.P. Co., Inc.
1001 Broken Sound, NW Suite A
Boca Raton, FL 33487

Name:

Address:

City: State: Zip:

Phone #: Daytime Phone #:

* Shipping & Handling may vary depending
on weight and dimensions of product.

Payment: O CHECK 0O VISA 0O MASTER CARD

creditcard#: L1100 OO0 OO0O0 OOOO
Billing Credit Card Zip Code: [ -CIC

Signature: Date:

Expires: [] D/D D/D []

All Prices in U.S. Dollars




